1 Draft Changes
1.1.1.1.1 Arithmetic decoding process for a binary decision

Inputs to this process are ctxIdxTable, ctxIdx, codIRange, and codIOffset.

Outputs of this process are the decoded value binVal, and the updated variables codIRange and codIOffset.

Figure 9‑2 shows the flowchart for decoding a single decision (DecodeDecision):

1. The value of the variable codIRangeLPS is derived as follows.

–
 Given the current value of codIRange, the variables qCodIRangeIdx and qCodIRefineIdx are derived by

qCodIRangeIdx =( codIRange  >>  6 ) & 3

(9‑29)
qCodIRangeIdx =( codIRange  >>  5 ) & 7

(9‑29)
qCodIRefineIdx = qCodIRangeIdx & 3

(9‑29)
–
 Given qCodIRangeIdx, qCodIRefineIdx, and pStateIdx associated with ctxIdxTable and ctxIdx, the value of the variables rangeTabLPS and refineTabLPS as specified in Table 9‑40 is assigned to codIRangeLPS:
  codIRangeLPS = rangeTabLPS[ pStateIdx ][ qCodIRangeIdx>>2] 
                + refineTabLPS[pStateIdx]* (qCodIRefineIdx -1)                     (9‑29)
codIRangeLPS = rangeTabLPS[ pStateIdx ][ qCodIRangeIdx ]
(9‑30)
2. The variable codIRange is set equal to codIRange ( codIRangeLPS and followed by the following process.
–
If codIOffset is greater than or equal to codIRange, the variable binVal is set equal to 1 − valMPS, codIOffset is decremented by codIRange, and codIRange is set equal to codIRangeLPS.

–
Otherwise, the variable binVal is set equal to valMPS.
Given the value of binVal, the state transition is performed as specified in subclause 9.3.3.2.1.1. Depending on the current value of codIRange, renormalization is performed as specified in subclause 9.3.3.2.2.
Figure 9‑2 – Flowchart for decoding a decision
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Table 9‑52 – Specification of rangeTabLPS and refineTabLPS depending on pStateIdx and qCodIRangeIdx 
	pStateIdx
	rangeTabLPS
	refineTabLPS
	pStateIdx
	rangeTabLPS
	refineTabLPS

	
	 qCodIRangeIdx>>2
	
	
	 qCodIRangeIdx>>2
	

	
	0
	1
	
	
	0
	1
	

	0
	152
	216
	16
	32
	29
	41
	3

	1
	144
	205
	15
	33
	27
	39
	3

	2
	137
	194
	14
	34
	26
	37
	3

	3
	130
	185
	14
	35
	24
	35
	3

	4
	123
	175
	13
	36
	23
	33
	2

	5
	117
	166
	12
	37
	22
	31
	2

	6
	111
	158
	12
	38
	21
	30
	2

	7
	105
	150
	11
	39
	20
	28
	2

	8
	100
	142
	11
	40
	19
	27
	2

	9
	95
	135
	10
	41
	18
	25
	2

	10
	90
	128
	10
	42
	17
	24
	2

	11
	86
	122
	9
	43
	16
	23
	2

	12
	81
	115
	9
	44
	15
	22
	2

	13
	77
	110
	8
	45
	15
	21
	2

	14
	73
	104
	8
	46
	14
	20
	1

	15
	69
	99
	7
	47
	13
	19
	1

	16
	66
	94
	7
	48
	12
	18
	1

	17
	63
	89
	7
	49
	12
	17
	1

	18
	59
	84
	6
	50
	11
	16
	1

	19
	56
	80
	6
	51
	11
	15
	1

	20
	54
	76
	6
	52
	10
	14
	1

	21
	51
	72
	5
	53
	10
	14
	1

	22
	48
	69
	5
	54
	9
	13
	1

	23
	46
	65
	5
	55
	9
	12
	1

	24
	43
	62
	5
	56
	8
	12
	1

	25
	41
	59
	4
	57
	8
	11
	1

	26
	39
	56
	4
	58
	7
	10
	1

	27
	37
	53
	4
	59
	7
	10
	1

	28
	35
	50
	4
	60
	7
	9
	1

	29
	33
	48
	4
	61
	6
	9
	1

	30
	32
	45
	3
	62
	6
	9
	1

	31
	30
	43
	3
	63
	2
	2
	0


1.1.1.2 Encoding process for a binary decision (informative)
This subclause does not form an integral part of this Recommendation | International Standard.

Inputs to this process are the context index ctxIdx, the value of binVal to be encoded, and the variables codIRange, codILow and BinCountsInNALunits.

Outputs of this process are the variables codIRange, codILow, and BinCountsInNALunits.

Figure 9‑6 shows the flowchart for encoding a single decision. In a first step, the variable codIRangeLPS is derived as follows.

Given the current value of codIRange, codIRange is mapped to the index qCodIRangeIdx of a quantised value of codIRange by using Equation 9‑6 9-29, and mapped to the index qCodIRefineIdx by using Equation 9-29-2. The values of qCodIRangeIdx, qCodIRefineIdx, and pStateIdx associated with ctxIdx are used to determine the value of the variable rangeTabLPS as specified by using Equation 9-30 and in Table 9‑8 Table 9-52, which is assigned to codIRangeLPS. The value of codIRange − codIRangeLPS is assigned to codIRange.

In a second step, the value of binVal is compared to valMPS associated with ctxIdx. When binVal is different from valMPS, codIRange is added to codILow and codIRange is set equal to the value codIRangeLPS. Given the encoded decision, the state transition is performed as specified in subclause 9.3.3.2.1.1. Depending on the current value of codIRange, renormalization is performed as specified in subclause 9.3.4.3. Finally, the variable BinCountsInNALunits is incremented by 1.
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Figure 9‑6 – Flowchart for encoding a decision
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